| N of associated (recoToSim) looper tracks vs dxy |

[N of associated (recoToSim) tracks vs dxy ]

N of reco track vs dxy

Q= R~
€ : “E
Qe : A
2 A BN
o i
— © : N <
% CoE
o M .
— © 5 s S s
[te} H H
g :
o £ s o
3 .
is H :
= . o
o E ERTETEY a1
— [ . |
0 e :
S .
— 2 . o
S 5 B D
1 .
N ] :
] 8 H o
N a 1]
| 8 2 I
5 o
syoes aredydnp M | syoen areoydnp oney
o
o

track dxy (cm)

20
track dz (cm)

10

-10

-20

Syoel} e}

-30

L
=
=]

Lo o
= L=
£ £
QS <
> o N
o X =]
— © X
3 g
o —
= O |n o =
s |8 =
[ts) H
£
(=) 8 =}
1o g
o 3 =
— s |
| 3
Lo 2
— = o
| 2 IN]
o E 1
N 8
] 2 o
N @ <]
s! 5 =i
sxoel) aniy z
L0 o
= LS~
£ £
o O &)
g 2
> o N
Lo X 1=l
— © Xx
% g
o
= 8 o =
= —
)
o )
i
o
o S —
n 2 '
)
— b o
| 3| IN]
o 5 |
" 8
Ite] 9| o
N p I
st O i
z

syoen

syoen




	Contents
	Page 1


